
Übung am 

239  + 1373 = 7959  + 2546 = 685  + 9462 =

235  + 9171 = 471  + 3182 = 7886  + 3561 =

7847  + 2931 = 9857  + 3143 = 938  + 6282 =

628  + 2495 = 364  + 8556 = 153  + 6497 =

4772  + 2697 = 9151  + 6255 = 446  + 3943 =

4373  + 7629 = 6739  + 8385 = 7953  + 8117 =

6151  + 6851 = 859  + 1983 = 472  + 4359 =

6833  + 6456 = 473  + 9261 = 8538  + 6351 =

2797  + 9237 = 1551  + 1419 = 5622  + 6199 =

998  + 9292 = 6167  + 4627 = 8948  + 4588 =

Kontrollabschnitt

239 + 1373  = 1612 7959 + 2546  = 10505 685 + 9462  = 10147 

235 + 9171  = 9406 471 + 3182  = 3653 7886 + 3561  = 11447 

7847 + 2931  = 10778 9857 + 3143  = 13000 938 + 6282  = 7220 

628 + 2495  = 3123 364 + 8556  = 8920 153 + 6497  = 6650 

4772 + 2697  = 7469 9151 + 6255  = 15406 446 + 3943  = 4389 

4373 + 7629  = 12002 6739 + 8385  = 15124 7953 + 8117  = 16070 

6151 + 6851  = 13002 859 + 1983  = 2842 472 + 4359  = 4831 

6833 + 6456  = 13289 473 + 9261  = 9734 8538 + 6351  = 14889 

2797 + 9237  = 12034 1551 + 1419  = 2970 5622 + 6199  = 11821 

998 + 9292  = 10290 6167 + 4627  = 10794 8948 + 4588  = 13536 

     Becker Tyler26.05.2020


